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General Instructions:

(i) All questions are compulsory.

(ii) The question paper consists of 34 questions divided into four sections A, B, C and D. Section-A comprises of 8
questions of 1 mark each; Section-B comprises of 6 questions of 2 marks each; Section-C comprises of 10 questions of 3
marks each and Section-D comprises of 10 questions of 4 marks each.

(iii) Question numbers 1 to 8 in Section-A are multiple choice questions where you are required to select one correct option
out of the given four.

(iv) There is no overall choice.
(v) Use of calculator is not permitted.

SECTION-A / ®Us-31

Question numbers 1 to 8 carry one mark each. For each question, four alternative choices have been provided of
which only one is correct. You have to select the correct choice.

A—2y=43ﬂ'€ﬂ%:

A 02 (B (0 © «0
D) @1
Solution of x —2y=41is:
[V-V R (V8] ® 20 © &0
D @1

2 (o —a) &9 H fbg we e W@ ) fem dm e 9w e !
(A) x=a (B) y=-a
(<€) y=x (D) x+y=0
The point of the form (a, —a) always lies on the line :
(A) x=a (B) y=-a
€y y=x (D) =x+y=0

Page 1 of 10




[image: image2.jpg]A ABC# T 7% 3 fe1Q af BC=5 cm, ZB=45" iR AB—AC=6 cm &, 1 T
FQ ¥ forg o T ¥

(A) BW /B=45"FRY

(B BC=5cm@ifay

(© ACH! e A ABC FRY

O T awE i

To Canstruct A ABC in which BC=5 cm, /B=45" and AB—AC=6 cm. Then first
step of construction is :

(A)  AtB, draw /B=45"

(B) DrawBC=5cm

(©  JoinAC to get the required triangle ABC.
(D)  noneof these

waﬁﬁﬁ%amwa\twiammﬁﬂvﬁmms:ﬁ%l kol
39 HIoff A BRI

(A) 80°150° (B) 90°140°

(©  100°130° (D)  110°120°
Nonlglﬁofquﬁd:ihtualue&“md?ﬂ'mdoﬂ\ertwc angles are in
the ratio
8 :15 then the remaining two angles are :

(A)  80°,150° (B) 90°140°

(©  100° 130° (D)  110°120°

T A & SR Bl AAB 154 cm?d 91 5.cm ¥ | TR SRR FIR G ¢
(A)  308cm? () 770cm?®

© 525cm? (D) 600cm?
&nsearenofucylﬁndmislﬂcm’mdiisheightisSmItsvolumeisequnl
to:

(A) 308 cm? (B) 770cm®

(e} 525 cm3 (D) 600 cm?
(©) 525em’ (D) 600 cm®

o TR F AT 10 mx 10 mx5m &1 T AW W@ N THA A G 9 G@N
T i & :

(&) 15m B 16m © 10m D) 12m
The length of the longest pole that can be put in a room of dimensions
10mXx10mX5mis:

(4 15m B) 16m © 10m D) 12m
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The mean of multiples of 3in3 to 10is :

4) 5 (B 65
© 7 @ 6
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SECTION-B / @vs-&

Question numbers 9 to 14 carry two marks each.

7fz Wi =4 PORS § £SPQ = 70° 3R £SQR = 50°8), T x

IRy 1 W TG R
5 R
D\/

0

N J

P Q

In parallelogram PQRS, if ZSPQ = 70°and ZSQR = 50°, then

find the value of x and y.
S R
o/

0°
0 J
P Q
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izt § wHiR 9GSt ABCD R T ®1 x, y 3R 2 1 WH 9 HifQ|
D P {4

V"
z
\40° 807\
A B
In the figure ABCD is a parallelogram. Find the value of x, y and
Z.
D P £
Y'Y
z
la\\s 807\
A B

3.5 cm T T ST 1 STRIGH TR HOOl 9% &el S RifsTe |

Find the volume and the total surface area of a hemisphere of
radius 3.5 cm.

The median of observations 11, 12, 14, 18, x + 2, x+4, 30, 32, 35 and 41
arranged in ascending order is 24. Find x.

Revii 11, 12, 14, 18, x+2, x +4, 30, 32, 35491 41, W1 % I o1 H &, 1
AT 24 & | x 1 T A HIC |

The class marks of a distribution are 37, 42, 47, 52, 57. Determine the
class size and the class limits of the last class mark.
e we ¥ ai-fa 37, 42, 47, 52, 57 § | st nl-fa  ani-A s

i i H

The class marks of a frequency distribution are 104, 114, 124, 134, 144, 154, 164. Find the
class size and class intervals.
o A W ¥ TR 104, 114, 124, 134, 144, 154, 164 &, T w2 F1 i w9 qwn

U F wie |
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SECTION-C / @us-¥

Question numbers 15 to 24 carry three marks each.

faig (1, 1) @ o 9@ 1 e weite fafaw )
Write three linear equations which pass through the : (1, 1).

afs Y I 7 + 8y =2k T T (-2, 3) &, T kFH A IR

iy iR s 3 & | A
Find the value of k, if (—2, 3) is a solution of the linear equation
7x + 8y =2k and hence find two solutions.

faw Mo f # ABCD W wWim wge € oit AD @1 wea-fag T &1 Al
ar(ABCT) =45 cm’ ), @ ar(ACD) T Hif|
A B

T

n [
Inthey‘vmﬁgure,ABCDisapunllelogmmdeisthemidpointofAD,

bid n:(AABCI'):ﬁcng, find ar(ACD)
)

D C

Wagﬂau@ﬁmﬁ'n”cn%%!ﬁﬁ,%zomﬁﬁwmﬂ

fg #ifi ff AD=BCR|
nwvad‘mesofuhapaﬁmABCDﬁemamleMthmkeOsuchﬂm
AB || CD. Prove that AD=BC.

fag FIF 5 T 37 ¥ srvia 1 wreges o i ¥
Prove that the thombus, inscribed in a circle, is a square.
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feu e faw ¥ PQRS iR PQLM wHiR Wqfs & 791 ar(PQRS) =120 cm® ¥ 1
EEii ]

@  ar(POLM) (i) ar(PQS) @) ar(QLM)
M _§ bR

P
In the givenQﬁgure PORS and PQLM are parallelogram and
ar (PQRS) =120 e’
Find :
@  ar(POLM) ()  ar(PQS) (@)  ar(QLM)
M | P 3

A vig 1 I Fowed § squa 401 81 TR v 1 ks S vedt wiE
Fgrht &1 2 F 9% IS dee § ST I Hifg )
There are two cones. The ratio of their radii are 4 : 1. Also the slant

height of the second cone is twice that of the former. Find the
relationship between their curved surface areas.

TF WF F U 44 em ¥ AR TR R FE 12 e @, T ViF T wF

Y &A% FI HIAC |

Circumference of the base of a cone is 44 cm. If slant height is 12 cm,
then find curved surface area of the cone.
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1500 families with 2 children were selected randomly and the following data
was
recorded :

No. of girls 0 1 2
No. of families | 211 | 814 | 475
If a family is chosen at random, find the probability that it has
@ at most one girl
(i) at least one girl.

wefRd | Een | 0 1 2
TRER #1 WEA | 211 | 814 | 475
agfea® 1 T T URER ¥,

@ e} s 1 wew! 89 @ wirsa w #n)
@ TR TG weF N H W  w )

Draw a bar chart of pass-percentage of students during 2005 to 2010
from the data given below :
Year 2005 |2006 |2007 |2008 |2009 | 2010

Pass percentage | 80% 75% |90% |[70% |95% |[85%
20058 2010 7 TAETdal & STIY| &H i FTawIa (71 SO0 5 a1 6 €1 5T

Siwgl 1 5 e g Fegu Sifag :
ELi 2005 | 2006 |2007 |2008 |2009 | 2010
S Wi 80% |75% |90% |70% |95% |85%

SECTION-D / @vus-g

Question numbers 25 to 34 carry four marks each.

TF 3T Te km % fow 25°F. 3iv 30 A% # g0 F ¢ wfdkm 12
. forran St &1 A8 g x ke 3R FoFm y % A, @ x 30y wafuw
s gt fafay | s Eifay o e | 6 ko 1 250 &1
o T Fif)

A taxi charges Rs. 25 for the first km and Rs. 12 per km for
subsequent distances covered. Taking the distance covered as x km
and total fare as y, write the linear equation depicting the relation in
xandy. Draw the graph. From the graph find the taxi charges for
covering 6 km.
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One Pencil costs ¥ 2 and one pen costs T15. If Sheela pays 3100 to
purchase pencils and pens, write a linear equation for it and draw
graph.

T 5 cm 5 A g9 A @ Sfand AB siRAC T R ¥ R
AB=AC=6cm ¥| a1 BC ! Tamé I HISIg |

In a circle of radius 5 cm, AB and AC are two chords such that
AB=AC=6cm. Find the length of the chord BC.

sgfa #, afz AABCH! 41 BCHI AD, a: b# afed 2, @l ar(ABD) :
ar (ABC) ¥ =ifT1
A

2Ljpg] a D pn C
In the figure, in AABC, if AD divides BC in the ratio a : b, then find
ar(ABD) : ar (ABC).
A

B = D B C

4 tarETe AC 3N BD UH g # O W wAfgwifem Fw §1 fag #ifaw fE
ABCD U GHidat Sq4« &1

Two segments AC and BD bisect each other at O. Prove that ABCD is a
parallelogram.
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A man divides his rectangular plot of length 204 m and width 106 m into four

equal triangular plots and gives each triangular plot to his four sons. The

third son decides to build a Health Centre on his plot but falls short of

money. The youngest one sells his plot and gives him the money.

Answer the following questions :

()  Whatis the area of the rectangular plot ?

()  How could the rectangular plot be divided into equal triangular plots
and what is the area of each plot ?

(i)  What value of the third son and the youngest son can be seen here ?
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A patient in a hospital is given milk daily in a cylindrical glass of
diameter 7 cm. If the glass is filled with milk to a height of 5 cm,
how much milk is required in litres for 300 patients ? (Use 7= 27—2)

33 U T P &R 758 cm?® | T wed AR ser whw: 14
cm iR
11 cm &1 399 39 @ik Srea T it

The surface area of a cuboid is 758 cm?2. Its length and breadth are
14 cm and 11 cm respectively. Find its height and volume.

34 For the following data, draw a histogram.

Age (in years) : 0-6 [ 6-12 | 1218 | 18-24 | 24-30 [ 30-36

Number of| 8 V) 15 18 V) 1

%ﬁvzws«wmﬂﬁ :

EEYCLE) 0-6 [ 6-12 | 12-18 [ 18-24 | 24-30 | 30-36

S #1 WA ] 2 15 18 V) 1
-00o0-
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